Year 2 Fractions - Maths Day 2 							16.6.2020  
The topic of fractions was one of the main concepts we covered in the spring term. Remember that you may need to use resources or paper to help you work out some of the answers.
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Reasoning
Remember the GD (gold star) questions are hardest questions so only complete them if you are confident you understand the learning.
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Sa. Find half of the balloons. Tick a box fo
show r.
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5b. Find half of the buttons. Tick a box to
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4b Circle _L_ of he windmill below.

7a. Use the counters fo complete the bar

model.
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7b. Use the counters complete the bar

‘model.
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8. Complete the part-whole model.
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8b. Complete the part-whole model.
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11a. Complete the bar model. 11b. Complete the bar model.
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4a. Is Sasha correct?

4b. 15 Naveed correct?

I had 24 sweets. | gave half of
them fo Sam. Now we have 14
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I picked 14 raspberies. | ate
hlf of them. Now I have 7
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Explain why.
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sa. sing the digit cards, complete the
statements below.

sb. Using the digit cards, complete the
statements below.
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4a. Aria has £20. She wants fo buy a ball
that costs half of her money. How much

‘does the ball cost?
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Explain how you know.

b. Evie has £26. She wants fo buy @
racket which costs half of her money.
How much does the racket cost?

Explain how you know.
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7a.1s Caleb correct?

7b.15 Roxy comect?

I had 26 buttons but 1 lost half of
them. Now I have 13 buttons.
left.

I had 28 balloons but half of
them burst. Now | have 18
balloons left.
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Explain why. Explain why.
8a. Using fhe digit cards, complefethe | 8b. Using the digit cards, complete the
statements below. statements below.
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